
THE INDIAN HEIGHTS SCHOOL 
CLASS:  III ____ 

Worksheet 

Subject: MATHEMATICS 

                                                                                                                                                               

NAME   __________________                                                                  DATE:  AUGUST 3 , 2013                                                                                                                                                                                                                                                                                                                            

ROLL NO __________                          
  

1. Add each of the following numbers: 
 
a) Th   H    T   O                          b)   Th   H   T   O 

 
3      9    1   7                                  4     3   7    5 

            + 4      0    7   2                              +  1     9   4    8   
 
          ______________                            ____________ 
 

2. Fill in the blanks: 

a) 6420 + 1195 = _________ + 6420 
 

b) 1493 + ________ =  8566 + 1493 
 

c) 232 + 99 + 7463 = 99 + 7463 + _________ 
 

d) 607 + 3972 + 455 = ________ + 607 + 455 
 

3. Add numbers that end with zero: 
 
a) 598 + 0 =          __________ 

b) 1669 + 10 =      __________ 

c) 4773 + 1000 =  __________ 

d) 9251 + 100 =     __________ 

4. Find the difference in each of the following: 
 
a) Th   H   T   O                 b) Th    H   T   O 

 

4   6    2   9                       7     9    8   7 
              -2     3    0   8                    - 5     2    4   6 
            ______________              _______________ 
 
            ______________              _______________ 
 

5. Regroup and fill in the blanks: 

a) 5 thousands 4 hundreds = _________ thousands 14 hundreds 

b) 2 tens 6 ones = 1 ten ________ 16 ones 

c) 7 hundreds 3 tens 8 ones = ________ hundreds 12 tens _______ ones 
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6. Tick the correct options: 

a) The result of subtraction is called – 

(i) sum  (ii) difference  (iii) answer  (iv) none of these 
 

b) The missing addend in 400 + _________ = 1000 

(i) 400   (ii) 500  (iii) 600    (iv) 1000 
 

c) 789 is _______ less than 1600. 

(i) 211  (ii) 512  (iii) 781   (iv) 811 
 

7. Subtract the numbers with regrouping: 
 
a) Th  H   T   O                     b)  Th  H   T   O 

6     7   1   3                            8    4   8   4 
             -2     9    0   8                          - 6   5   2   7 
            ____________                      _____________ 
 
            ____________                      _____________ 
 

8. For each of the following addition facts, write two subtraction facts: 
 
a) 4361 + 2837 =  7198 

 
____________________________ , ______________________________ 
 

b) 369 + 578 = 947 
 
____________________________ , ______________________________ 
 

 
9. Find the difference: 

 
a) 70 – 10 = ___________ 

 
b) 300 – 100 = ___________ 
 

c) 8000 – 3000 = ___________ 
 

10. Add each of the following: 
 
a) 600 + 200 = ___________ 

 
b) 429 + 300 = ___________ 
 

c) 743 + 500 = ___________ 
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